= AH O
N = 0 &8 AF S & Al A
20109 &= 20l & LESIH S0z ~ S2SHarg
2N 250
Hi: R0=RE
o IS (e
- _ _ NuEC
2N -3 -2 (SH) - NEME - HES (O] AFCH @;OH Hns
2350z 61,866,934 72,833,969 A~ 10,967,035
= 16,894,998
Z 14,393,000
7l 2,060,818
= 3,076,678
< 25,441,440
=== 61,065,514 71,937,089 A 10,871,575
= 16,894,998
z 14,393,000
J| 2,060,818
2 3,076,678
< 24,640,020
Xer2 5 are 1,761,800 7,863,400 6,101,600
Z 450,000
< 1,311,800
NLE2S3 AIEESIA 818,000 868,000 A 50,000
= 450,000
< 368,000
307 GI2t0IA 10,000 10,000 0
02 DI2ZtAAEX 10,000 10,000 0
O23g AR AN 10,000
308 XX HHSOIA 338,000 338,000 0
01 AXSHMBEANEES 338,000 338,000 0
OXNYSeAANHE S
38,000,000 » 17 A *25% 161,500
O23g Z22AM Al 200,000, 000 *50% 100,000
OXe25tal a0l g2 Al X
306,000, 000! *25% 76,500
403 XX SHHSKA=201H 470,000 520,000 A 50,000
2 450,000
< 20,000
01 MXISHAEEX 470,000 520,000 50,000
OHE2EE AEAIS 450,000
2 450,000
O 23 JIs:EZ 20,000
NS ERSSHELEXH 394,500 604,500 A210,000
201 dBt2ad| 4,500 4,500 0
01 AF222|H] 4,500 4,500 0
O=HAAMRES & BIIH2Y 4,500
308 XIXIHAHSOIA 390,000 600,000 A210,000
01 AXSHMBAEES 390,000 600,000 /210,000
OXNESEZSFEHMAA 390,000
B2 EEAY 300,000 4,680,000 4,380,000
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S 2stolE
BH: 250MSTE
SHel: Nyestae (Ere): & 2
_ _ _ Muo
SN -EH . S2(3) - MRAY - BES Off & o4 Sl ko HRz2

OS2 MEHA K& 20,000

ANgo=sds 8,422,800 8,538,490 A 115,690
= 574,400
= 100,000
p) 455,000
= 160,000
= 7,133,400

=20 Hl=2Z A XI&AE 592,800 584,640 8,160
= 296,400
= 296,400

307 2120l & 592,800 584,640 8,160
= 296,400
= 296,400

02 YIS Ex 592,800 584,640 8,160
O=L20t & LAKIE 592,800
= 296,400
S 296,400

SEAHEIZAS 104,000 104,000 0
Il 52,000
= 52,000

307 Ql12told 104,000 104,000 0
Jl 52,000
= 52,000

02 2I2tFoEx 104,000 104,000 0
OBEAYEIAANL 104,000
] 52,000
S 52,000

SUHSHEAES HMEXNE 223,000 289,900 266,900
P 223,000

308 XNXISHHSOIE 223,000 289,900 A66,900
] 223,000

01 MXEMIHELS 223,000 289,900 A66,900
ORUTUXE HEAY 223,000
] 223,000

st=0IEM == E O 68,000 68,000 0
= 8,000
= 60,000

308 XX EHHISO0I® 68,000 68,000 0
2 8,000
= 60,000

01 MXEHHMBdELS 68,000 68,000 0
OM508 e=ol%0l&=H &0t 50,000
= 5,000
S 45,000
OM 163 HRHAELIK0IEH 18,000
= 3,000




S 23
B 23
=]

&l
=5l Ugusa

SA-FH - SA(SAH) - MREAY - BES Off &F o4 gl,liafg BlusZ

| < 15,000

XA 2502 DM E AL 300,000 300,000 0
= 150,000
= 150,000

307 ©I2r0l M 300,000 300,000 0
= 150,000
= 150,000

02 QI2HAEE 300,000 300,000 0
OXNHS3 & DS LAY 300,000
= 150,000
= 150,000

=22 UETSAMY 50,000 80,000 30,000

308 XHXIEHHISOIH 50,000 80,000 30,000

01 MAXESHBLEES 50,000 80,000 30,000
OM73l ZF2MOIEHM 100,000,002 <50% 50,000

MBI 230 S DIAY 120,000 182,000 62,000
= 120,000

308 AHXIEHHISOIH 120,000 182,000 62,000
= 120,000

01 RXESHBARES 120,000 182,000 62,000
OA 8230 & DS AL 120,000
= 120,000

SRS AL 100,000 0 100,000
2 100,000

308 X+l EHHISOIH 100,000 0 100,000
2 100,000

01 RXESHMBALES 100,000 0 100,000
OZZXei0ls Hiagy 100,000
2 100,000

X250l & & S X2 (Pool) 666,500 515,000 151,500

307 ©I2H0I M 450,000 400,000 50,000

04 BIRbEALE & 450,000 400,000 50,000
OX2s 2SN 450,000

308 XHXIEHHISOIH 216,500 95,000 121,500

01 RXESHMBALES 216,500 95,000 121,500
OxQX S & 60,000, 000! *50% 30,000
O£R2 X2z 25 X 186,500

ROHE SHESAY 208,000 208,000 0
£ 160,000
= 48,000

308 Xt EHHISOIH 208,000 208,000 0
= 160,000




M Z3t0l=
M Zosds
Sel Agu=ds (el =3
SN E - SR(SH) - NPAMY - BES 0] &k o8 e HREZ
= 48,000
01 MXEHINELS 208,000 208,000 0
OXotit==sta2=s A 208,000
=2 160,000
< 48,000
SHl=Y" 29 5,080,500 5,092,950 A12,450
301 Ypt8ag 50,000 96,000 A46,000
07 212te1=2l ¢ d| 50,000 96,000 A46,000
OZgl=taie3 50,000
308 MXIHHSOIH 5,030,500 4,996,950 33,550
01 MXEMIHELS 5,030,500 4,996,950 33,550
Osg=d2ad4H2F 2,367,000,000& «60% 1,420,200
Osdngsd+4z2d 3,444,000,000& *70% 2,410,800
Osg=ad=d 1,285,000, 000& *70% 899,500
OFdHE=AAEY 428,571,000& »70% 300,000
KNS 20 = A 60,000 185,000 A 125,000
308 NXIHHSOIH 60,000 65,000 25,000
01 XM EXS 60,000 65,000 5,000
OZF E=Z4u=H 10,000, 000 *50% 5,000
O%R3x =Zd=xH 10,000, 000:& *50% 5,000
O3 Eado=H 20,000, 000& *50% 10,000
OF8 S22 U3 80,000, 000& *50% 40,000
NG 2t Es X3 390,000 830,000 A440,000
308 NXISHHMSOIH 290,000 580,000 290,000
01 XM EEXS 290,000 580,000 A 290,000
Ogtsal gtael & - ENig
140,000,000 *50% 70,000
OnOtLE E=2&&EHZHM 240,000,000 *50% 120,000
OU&ENH SIIEIS2A=H 200,000,000 *50% 100,000
403 XXM SA=201H 100,000 100,000 0
01 XM= E = 100,000 100,000 0
OoEsYR w=sFAIMA 200,000,000 *50% 100,000
ZSU=IIEAS 200,000 0 200,000
Il 100,000
< 100,000
307 212t01& 200,000 0 200,000
Il 100,000
= 100,000
02 QIHFAE X 200,000 0 200,000
O23t0l=J1 =AY 200,000
Il 100,000




SN 2soa
M 250SXE
ool NYENE (sl &2
SM-EH . C(BH) - HRAY - B2 Ofl Ak 04 %gi HRs2
| = 100,000
SHM=HNESsY A Y 160,000 0 160,000
| 80,000
= 80,000
201 B3| 5,000 0 5,000
| 2,500
& 2,500
01 AbR2t2lH| 5,000 0 5,000
OZHUSTH AEIHAY BIAA 5,000
| 2,500
& 2,500
307 212t01& 165,000 0 155,000
| 77,500
& 77,500
02 QIAANBE 155,000 0 155,000
OZTHHSSH AESHAY X 155,000
J| 77,500
& 77,500
Follzs nsdE 100,000 0 100,000
307 S12t01& 100,000 0 100,000
02 2ItAASE X 100,000 0 100,000
0425 $Us 23M=DS 100,000
ST M L BE 26,364,014 42,304,359 15,940,345
= 2,002,698
& 1,710,000
| 1,605,818
= 2,916,678
= 8,108,820
ZOINEEZ3M s 2tel X 20,000 177,500 A 157,500
= 20,000
308 AUHXIHHMSOIA 20,000 20,000 0
= 20,000
01 XN MBLEXS 20,000 20,000 0
O=Jt2& M XN 2K (&2 20,000
= 20,000
SELEA2s Al MR 900,000 4,069,000 A3,169,000
z 900,000
403 XXM SA=201H 900,000 4,069,000 23,169,000
= 900,000
01 MXIESHMA=2E xR 900,000 4,069,000 23,169,000
OEHd1NE GAIZst2E Al 900,000
& 900,000
FEERAM ST 2= 1,233,482 1,007,682 225,800
= 500,000




M Z3t0l=
B 2H0ENE
el 2 Hs € 2E (ehel: =3
SNBSS - MBAY - BES 01l &4 24 e {imE=Eh
= 62,678
= 670,804
308 NXIHHSOIH 483,482 422,682 60,800
= 62,678
= 420,804
01 XM EXS 483,482 422,682 60,800
ORY=2sM dsXES(ERNA, =) 402,000
ORE=23M SHeMm s X& 81,482
= 62,678
= 18,804
403 X HMEAH=01H 750,000 585,000 165,000
= 500,000
= 250,000
01 MXIEMA=2E = 750,000 585,000 165,000
OJIXAl 20eldl AHE =4 750,000
= 500,000
= 250,000
NA2sH23 M) ol=XHE 115,000 110,000 5,000
308 KNXISHHMSOIH 115,000 110,000 5,000
01 MXEHINELS 115,000 110,000 5,000
OX9 =2tz M= 115,000
N2 243l (POOL) 945,000 1,150,000 A 205,000
403 A XIHHSK=201H 945,000 1,150,000 A 205,000
01 XM= E X 945,000 1,150,000 A205,000
OXg23 2438l (pool) 945,000
S ZALEE FH 350,000 350,000 0
403 XXM S0 350,000 350,000 0
01 TUXIEMAZE = 350,000 350,000 0
OE&EAE=S FHl 350,000
MEXNEEZSIM 2=+=F4] 3,710,200 4,224,027 A513,827
= 2,854,000
< 856,200
403 XXX SA=01d 3,710,200 4,224,027 A513,827
= 2,854,000
= 856,200
01 MUXIEHMAZE = 3,710,200 4,224,027 N513,827
OANEXNE23 M 2+=FH| 3,710,200
= 2,854,000
= 856,200
S ot 2+3H] & S2EIE 2+FH| 54,000 60,000 26,000
403 X HMEA=01H 54,000 60,000 6,000
01 XM= XE 54,000 60,000 26,000




24 250z
B 2H0ENE
ool 23 Hs 2 2E (el a9
_ _ pSNE e
SA-E - S(E) - MEAY - BES 0 & 24 e GImE=ET
O=2=tM eter2s & E2HEXE £X 54,000
FStHEE 22 X 13,889,796 23,761,316 A9,871,520
= 11,425,480
= 2,464,316
403 A XIEHHSXH=01H 13,889,796 23,761,316 A9,871,520
= 11,425,480
S 2,464,316
01 RXEHMA2E xR 13,889,796 23,761,316 29,871,520
OUHEs So2HIY 4,692,000
= 3,864,000
= 828,000
O=JINE &3t M E==FHb| 9,113,796
= 7,505,480
S 1,608,316
O2INY S=2a 223 84,000
= 56,000
S 28,000
2aed 2ZH3s XA 810,000 1,549,600 AT739,600
= 810,000
403 AXIHHS K201 810,000 1,549,600 A739,600
= 810,000
01 AXESMIA2E = 810,000 1,549,600 AT739,600
OSHME BEAAN ISZM N2 810,000
= 810,000
SHAANZSE 249 1,535,000 2,100,000 /565,000
306 == 1,535,000 2,100,000 /565,000
01 29¥=3 1,535,000 2,100,000 A565,000
SENEETIEE 1,110,000
O&X&& 425,000
S MSE 22 MY 266,844 292,300 A 25,456
Il 266,844
308 XNXISHHMSOIE 266,844 292,300 A 25,456
Il 266,844
01 MXEMIMELS 266,844 292,300 A 25,456
OSsHSE 22 AleS 266,844
Il 266,844
St Z&4ExH X 43,274 32,480 10,794
Jl 43,274
308 KNXISHHMSOIE 43,274 32,480 10,794
Il 43,274
01 XM EXS 43,274 32,480 10,794
OFEIIS B4H N 43,274
Il 43,274




SN RS D
M RusdS
&t 23 Hs 2 EE (ctel: &
SN FB - SRI(S) - NIRAY - B 0fl b S HmE2
Dot ZIH01Laldl At 57,218 58,704 A 1,486
= 57,218
403 XX HSA201H 57,218 58,704 A 1,486
= 57,218
01 MXISMAZ2E = 57,218 58,704 A 1,486
QU= ZIH0IL AIAL 57,218
= 57,218
SLSLESHM 2AIQ S XA 238,700 208,000 30,700
| 238,700
308 XNXISHHSOIE 238,700 208,000 30,700
Il 238,700
01 MXEMIAELS 238,700 208,000 30,700
OS2SZESM 2ZAleE HiX 238,700
J| 238,700
SRELEIMEHAIE RS 1,000,000 975,000 25,000
| 1,000,000
403 X HMSAH=01H 1,000,000 975,000 25,000
| 1,000,000
01 AXSHMA2E = 1,000,000 975,000 25,000
OSSXEsM $MALERS 1,000,000
Il 1,000,000
SXNE2a YIHAIE 2=XA 405,000 450,000 45,000
403 AXIHHSK=201H 405,000 450,000 245,000
01 XM= E X 405,000 450,000 245,000
OEXNEZ23 M SHAIE 2= 405,000
SE2AM FEEE 175,000 145,000 30,000
307 QI2t0IA 55,000 45,000 10,000
04 QIZHHALE X 55,000 45,000 10,000
OREEM B3 5 N 55,000
308 MHXIHHMSOIA 120,000 100,000 20,000
01 MXEHMIAELS 120,000 100,000 20,000
OY&IIXIA ZCteld] HHHAF XI& 120,000
2o AHMA(R) 4 20,000 60,000 240,000
201 Y2 Y| 20,000 0 20,000
02 223l 20,000 0 20,000
O2stMetd A X2l 20,000
SANHSH HAHE HBIE N4 180,000 0 180,000
403 X SHMSAH201H 180,000 0 180,000
01 XM= E X 180,000 0 180,000
OSLXNE23M S4HANEIF(2) =L 180,000




SN
X XH .
S Tt

el

_ _ HE T
N33 S2(8H) - MEAMY - BAS At ol @ﬂOH Hlw &2
RN H 2SS HZAIA L2 F 85,500 85,500
Il 57,000
== 28,500
403 XX SHHS X201 85,500 85,500
pJ 57,000
== 28,500
01 XXIESHAEEE 85,500 85,500
ORNNF 25T THBAIAL 85,500
pJ 57,000
L= 28,500
HOELH LR A2 Z A 200,000 200,000
403 X SHMSAH201H 200,000 200,000
01 XIXSHA2LEE 200,000 200,000
O&er do4t2fdld =LA
400,000, 000%50% 200,000
R PAIME D 2 10,000 10,000
= 10,000
403 X XISHH S X201 10,000 10,000
2 10,000
01 XXISHA=2EE 10,000 10,000
OFsmraH7 AlEEW 29 10,000
2 10,000
VXN F 25 HIALPS 15,000 15,000
2 10,000
L= 5,000
403 XX SHH S X201 15,000 15,000
2 10,000
= 5,000
01 XXSHA=2LE 15,000 15,000
O=2IJINE 2 HMIANER= 15,000
= 10,000
== 5,000
ZoHEE2C RFAH 5,000 5,000
202 Odtl 5,000 5,000
01 WY 5,000 5,000
O23MXE & s4HE S 2 F& 5,000
MY RS TAl 100,000 100,000
403 XX SHHSXH=01H 100,000 100,000
01 XXIESHA=2EE 100,000 100,000
OtlgRs A 100,000
AL 25 2 2 24,516,900 11,286,060
2 4,297,900
2 12,133,000

—_




2A: S30l=1
M. 2I0=EE
CHel: 23tAlE 25 U 29 (Erol: &2
SN (B) - MBEAY - B2 0f Ao S HRZS2
= 8,086,000
SSEME HE X 4,785,000 0 4,785,000
= 4,785,000
403 XX SHHSA=201H 4,785,000 0 4,785,000
= 4,785,000
01 AIXIESHHMAZ2E R 4,785,000 0 4,785,000
OFgBSEA2 HE 2,000,000
= 2,000,000
OFLFMSHESSEAZ HEY 1,600,000
= 1,600,000
OldtsHESST A2 HE 400,000
2 400,000
OHosHESSTAHS HE 785,000
= 785,000
S22 A2 OHZAIZE AHE 597,900 393,000 204,900
= 597,900
308 XXX SOI& 597,900 393,000 204,900
= 597,900
01 AXSMINEEZ 597,900 393,000 204,900
O3 MZ JH&AIZE HEXH 597,900
= 597,900
A AE L 2 X2 (KHA) 72,000 82,000 A 10,000
307 QIz2to| A 72,000 82,000 10,000
02 DI2ZHEAME X 72,000 82,000 A 10,000
OsEENEANA2 29 XA 72,000
20la 2 HE L E4=(24]) 500,000 500,000 0
= 500,000
403 NXISHHS K20l 500,000 500,000 0
2 500,000
01 AXSHMA2EE 500,000 500,000 0
OdJ|l=0z & 24 500,000
= 500,000
SoAEHE L B4 (XHA) 5,415,000 4,415,000 1,000,000
403 KXIEHMSK=201H 5,415,000 4,415,000 1,000,000
01 XXM Z2E xR 5,415,000 4,415,000 1,000,000
O0tat 203 HE 2,000,000
O20sl & el22 (pool) 1,415,000
O=s4d 2I3a=XN20 32 HE 2,000,000
230D EAIEERA 1,334,000 1,230,000 104,000
& 1,334,000
403 KXIEMSK=201HA 1,334,000 1,230,000 104,000
= 1,334,000




SN 2st0lEt
HH: 25MSEE
Sel RSAA 25 2 29 (2ol &2
SN -BH - S(B) - MRAY - BES Off &k gggi; HRE
01 RXISH AR E 1,334,000 1,230,000 104,000
O2Y 0|27 283 Ay 529,000
z 529,000
024 0122 Jlga 28 805,000
z 805,000
BF, 20| ANSHTA T4 4,000,000 2,600,000 1,400,000
2 4,000,000
403 TXIEHHIS K0l 4,000,000 2,600,000 1,400,000
z 4,000,000
01 XXISHAERE 4,000,000 2,600,000 1,400,000
OZF, 20 AMNSHTA T4 4,000,000
z 4,000,000
2HAYARL BB HEHTUE Xy 2,100,000 0 2,100,000
2 2,100,000
403 THXI SIS KH2 0 2,100,000 0 2,100,000
2 2,100,000
01 RXISHAREE 2,100,000 0 2,100,000
OZHUYRY BS HSHHAUE Xy 2,100,000
3 2,100,000
Igyus AY 400,000 0 400,000
z 400,000
403 XX EHHISKHE0lH 400,000 0 400,000
z 400,000
01 RXISH 22T 400,000 0 400,000
oglzYLER AY 400,000
z 400,000
G2 Q0B X (XA) 154,000 1,000 153,000
201 L2 4,000 1,000 3,000
01 AtR22lt] 4,000 1,000 3,000
Out2d 2 0|52 VSV 2P+ 4,000
308 XX A SOIH 75,000 0 75,000
01 NXESHBL2ES 75,000 0 75,000
OS2 L 0I&2 2Y 243 X 75,000
403 XX IS KHE0IH 75,000 0 75,000
01 RXISHAREE 75,000 0 75,000
OI22 o Ds 2o BEAL S 75,000
HEAT 45 ALY 100,000 0 100,000
2 100,000
403 RHXIEHH SXHE 0l H 100,000 0 100,000
2 100,000
01 RASHIEE 100,000 0 100,000




SN 2s0lE D
HH: 25MSEE
Sl 2HAIL HE L 2Y (Sl #)
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES Off &k il b on HRS2
ONE SHMHDAl THHAIR HEA
200,000, 000! *50% 100,000
2 100,000
SSHAIL SXALF 2 XIS 2 (BTL) 1,114,000 635,000 479,000
z 1,114,000
403 THXIEHRIS K2 0| & 1,114,000 635,000 479,000
z 1,114,000
01 XXIGHA =R X 1,114,000 635,000 479,000
OHUSRTHZ A2 (BTL) 247,000
z 247,000
OLZDNISBATXME 2 (BTL) 867,000
z 867,000
HMEAMEBLIY 2,250,000 2,850,000 600,000
2 1,500,000
= 750,000
403 KX SIS KH2 0l 2,250,000 2,850,000 600,000
2 1,500,000
= 750,000
01 KXISHAX=EE 2,250,000 2,850,000 600,000
ORSAEZSIH| 3,000,000, 00021 +75% 2,250,000
2 1,500,000
= 750,000
NYHEANZ 24 354,000 503,840 149,840
201 Y2 4,000 3,840 160
01 ALR el 4,000 3,840 160
OREANELEIAE HH2Y 4,000
403 THXISHHIS KHE 0 H 350,000 500,000 150,000
01 KXISH =R E 350,000 500,000 150,000
OXYHSAZ 24 F bl (pool) 350,000
NHoI£252 o A 1,341,000 21,000 1,320,000
201 Y2 6,000 21,000 15,000
01 AR eIt 6,000 16,000 £10,000
OSHOIE2SANFHARS Fu4Y 6,000
306 £03 1,330,000 0 1,330,000
01 213 1,330,000 0 1,330,000
022359 o ALEZ 1,330,000
308 XX SISOl F 5,000 0 5,000
01 RASHZARES 5,000 0 5,000
OfI=23 22 X 5,000
HeES (25051 700,000 800,000 £100,000
TESEDE 700,000 800,000 £100,000

_13_




M Z3t0l=
Hu: HLES(SSH0ED)
&Rl WRHHXNS (el &)
_ _ _ Muo
SN E - SR(SH) - NPAMY - BES 0fl & o e UimE==l
Eotl=dEIISLEH 700,000 800,000 A 100,000
02 JI3EE3 700,000 800,000 A 100,000
01 JI=sd&E= 700,000 800,000 A 100,000
O=2H=dslls &= 700,000
HY2LZHI(230=1) 101,420 96,880 4,540
QI 2 10,800 10,200 600
el 2| 10,800 10,200 600
203 ¥R =& 10,800 10,200 600
01 JI22ZHRF4l 6,600 6,000 600
o= 6,600
04 RA2ILRF=LH 4,200 4,200 0
O23t0l= 4,200
Jl=2Z4l 90,620 86,680 3,940
Zotol=n eI 90,620 86,680 3,940
201 et 46,000 44,000 2,000
01 AtR2teld] 46,000 44,000 2,000
SEETE-EES 46,000
202 (4Hl 44,620 42,680 1,940
01 =AY 44,620 42,680 1,940
O=2sttz=d =2 44,620
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